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8.1 Introduction
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vMathematics is a most exact science and its conclusions are

capable of absolute proofs. – C.P. STEINMETZ v

(BINOMIAL THEOREM)
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8.3 (General and middle terms)
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7. (0.99)5 

8. 2
3

4

4
+

n
1F

HG
I
KJ 5 5 6:1

n

9. 1
2

2
4

+ -
F
HG

I
KJ ¹

x
0

x
 x,

10. (3 2 3 )2 2 3x ax a- +

u

( + ) + +...+2
1a b C a C a b a b ab bn n n n n n n

n
n n

n
n= + +- -

-
-

0 1
1

2
2 1C C C

u (array) 

u ( )a b n+ T C+1r
n

r
n-r ra b= .

u ( )a b n+ n
n

2
1+

F
HG
I
KJ n

n +F
HG
I
KJ

1

2
n +

+
F
HG

I
KJ

1

2
1
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( )x y n+ 0 7£ £n

(200 B.C.)  1303 (Chu-Shi-Kie)

Michel Stipal 1486 - 1567 1544

Bomballi 1572 n = 1 2 7, ...,

( )a b n+ (Oughtred, 1631) n = 1 2 10, ,.....,

(Blaise Pascal, 1623-1662)

n 1665

Trate du triange arithmetic
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